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Patterns in Problems might be static, ie the set-up or starting position of the problem, or mobile, ie created by the movement of the pieces in the solution.  Today’s problem (W A Shinkman) has White – to play & Mate in 4 – creating such a pattern in one of the two variations:
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WA  CHAMPIONSHIP:  Twelve year old Yita Choong continued his successes with victory against 8 times champion Wolfgang Leonhardt in Round 7.  In round 8 he will play 19 year old Dennis Holland.  Leading scores: Choong 6.5/7, Barber 5.5, Kueh, Holland 5.  



           YITA  CHOONG   -   HAYDN  BARBER



      2005 WA Championship, Rd 6. Sicilian Defence



 1    e4  
c5  


 2    Nf3  
Nc6



 3    Bb5 
g6 


 4    Nc3  
Bg7



 5    Bxc6  
dxc6 


 6    0-0  
e5



 7    d3  
Qe7  


 8    Be3  
Nf6



 9    a4  
Nd7(a)  

10   a5  
Nf8



11   Nd2  
Ne6  


12   Na4  
Rb8(b)



13   b4! 
cxb 


14   Bxa7 
b5(c)



15   Bxb8 
bxa4 


16   Rxa4 
Ba6



17   Nc4  
c5 


18   Bxe5 
f6



19   Bb2 
0-0 


20   Nb6 
f5



21   Bxg7  
Qxg7  


22   exf?(d) 
gxf!



23   Qf3(e)  
Kh8 


24   Re1  
Nd4



25   Qg3 
Nxc2 


26   Qxg7+ 
Kxg7



27   Rc1  
Re8  


28   Ra2 
Re1+!(f)



29   Rxa1 
Nxe1 


30   Na4(g)
Nxd3



31   Rc2(h) 
c4 


32   Re2 
Kf7



33   f3  
Bb5


34   Nb6 
Nf4?(i)



35   Re5 
Ne2+!(j)

36   Rxe2 
c3



37   Rc2 
Ke6 


38   a6  
Ke5(k)



39   a7  
Bc6 


40   Kf2 
Kd4



41   Ke1  
b3  


42   Rd2+! 
cxd2(l)



43   Kxd2 
h5 


44   Na4 
h4



45   Nb2 
h3(m) 


46   gxh3 
Bxf3



47   h4  
Ba8 


48   h5 
Ke5



49   Nd3+ 
Kf6 


50   Nf4 
Be4



51   Kc3 
Kg5 


52   h4+! 
resigns 

a)  Black is intent on finding the ideal spot for his knight, d6. However he underestimates White’s attack against his weakened queenside which could be halted by 9...a5.

b)  With the attack intensifying on his c pawn (Nb3 to come) Black prepares ...b6 but leaves his a pawn a target.

c)  Black has to lose the exchange – 14...Ra8  15 Nb6!

d)  Allowing Black the half-open g file & the possibility of an attack by all his pieces against White’s king.

e)  Realising the danger White is prepared to give up a pawn to exchange queens.

f)  Not 28...Bxd3? 29 a6.

g)  30 d4 either saves the pawn or avoids allowing united passed pawns.

h)  The immediate 31 Re2 looks better but White’s 3 pieces are uncoordinated.

i)  With a win in sight Black blunders. 34...c3  35 Nd5, Bc4  36 Nxc3 (36 Ne3, b3!  37  Nxc4, c2) 36...bxc3  37 Rc2, Nf4  38 Kf2 (38 Rxc3, Ne2+) 38...Nd5. 

j)  If  35...c3  36 Rxb5, c2  37 Rc5, c1=Q+  38 Rxc1, Ne2+  39 Kf2, Nxc1  40 a6 wins.

k)  If 38...Bxa6  39 Na4.         l) If 42...Kc5  43 Na4+!

m)  If Black marks time White will get a passed pawn on the kingside (ready to give up his knight for the b pawn).

SOLUTION: 1 Rh8 (threat 2 a8=Q#) 1...Kxa7  2 Rxh1 (important to put Black into zugzwang): if now 2...Ka8  3 Kc7, Ka7  4 Ra1#: however the pattern (a rook tour around the perimeter of the board)

 is effected by 2...Kb8  3 Ra1, Kc8  4 Ra8#. 


